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USN          

Internal Assesment Test –I 

Sub: MICROPROCESSOR Code: 10EC62 
Date: 27 / 03 / 2017 Duration: 90 mins Max Marks:  50 Sem: VI Branch: ECE/TCE 

Answer Any FIVE FULL Questions 

 Marks 
.................

..... 
CO RBT 

1 Given that ܵܦ = ܵܥ,ܪ5000 = ,ܪ0800 ܵܵ = ܵܧ,ܪ20ܥ0 = ܲܤ,ܪ000ܨ =
,ܪ0030 ܵܲ = ,ܪ0123 ܫܵ = ܫܦ,ܪ12ܣ0 = ܺܤ,ܪܦܥܤܣ =  identify the ;ܪ5678
addressing mode and determine the physical address resulting from the 
following: 
,ݔܽ ݀݀ܽ (݅ ,[݅ݏ] ,݈ܽ ݒ݋݉ (݅݅ [1000], + ݔܾ] ݒ݋݉ (݅݅݅ ݅ݏ  + 06],  
,ݔܾ ݒ݋݉ (ݒ݅  + ݌ܾ]  [ܺܤ]ݎݐ݌ ݀ݎ݋ݓ ݈ݑ݉ (ݒ,[50 

[10] CO2 L3 

2 Discuss the addressing modes of 8086 in detail. [10] CO2 L2 
3 Write an ALP to find the factorial of any number between 0H to 8H.  [10] CO1 L3 
4 (a) 
 
 
 
    
   (b) 

Discuss the different instruction formats of 8086. Also write the machine code 
for the following instructions if the first byte for MOVE instruction is 
 ”ܹܦ100010“
,ܮܣ ܸܱܯ (݅ ,[ܫܵ]݉ݑ݊ ݉ݑ݊ where ,ܺܦ,[ܺܤ]݉ݑ݊ ܸܱܯ (݅݅ =  ܪ0100 

[07] CO2 L2 

Discuss the significance of instruction queue available in 8086. Justify why 
instruction queue is known as look-ahead feature of 8086? [03] CO1 L2 

5 Explain the architecture of 8086 microprocessor with a neat block diagram. [10] CO2 L3 
6 Write an ALP to compute the value of a functionܻ =  3 ∗ ܺ +  5 . Where 

ܺ →  and Adjust the value of ܻ in unpacked BCD format. [10] CO2 L3 9 ݋ݐ 0

7 Write an ALP to find the number has an even or odd parity. If parity is even set 
DL to 00; else set DL to 01. Also to find the given number is an odd or even 
number. 

[10] CO2 L3 
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CO1: Describe the architecture of 8086 
processor 3 3 2 - - - - - 1 - - - 

CO2: 
Solve computational problems using 
instruction sets of 8086 microprocessor 
and 8087 coprocessor 

3 3 2 - - - - - 1 - - - 

CO3: Analyze and optimize the execution time 
and memory requirement of a program. 3 3 2 - - - - - 1 - - - 

CO4: Apply software and hardware interrupts 3 3 2 - - - - - 1 - - - 

CO5: 

Illustrate the interfacing of different 
input and output peripherals 
withMicroprocessor and the 
communication through serial & parallel 
ports. 

3 3 2 - - - - - 1 - - - 

CO6: Comparethe features of 80x86 family of 
Microprocessors  3 3 2 - - - - - 1 - - - 
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Cognitive 

level KEYWORDS 

L1 List, define, tell, describe, identify, show, label, collect, examine, tabulate, quote, name, who, when, where, etc.  
L2 summarize, describe, interpret, contrast, predict, associate, distinguish, estimate, differentiate, discuss, extend  

L3 Apply, demonstrate, calculate, complete, illustrate, show, solve, examine, modify, relate, change, classify, experiment, 
discover.  

L4 Analyze, separate, order, explain, connect, classify, arrange, divide, compare, select, explain, infer.  

L5 Assess, decide, rank, grade, test, measure, recommend, convince, select, judge, explain, discriminate, support, 
conclude, compare, summarize.  

 

 

PO1 - Engineering knowledge; PO2 - Problem analysis; PO3 - Design/development of solutions; 
PO4 - Conduct investigations of complex problems; PO5 - Modern tool usage; PO6 - The Engineer and society; PO7- 
Environment and sustainability; PO8 – Ethics; PO9 - Individual and team work; 
PO10 - Communication; PO11 - Project management and finance; PO12 - Life-long learning 
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3)  Write an ALP to find the factorial of any number between 0H to 8H.   10 Marks 

.model 
small 
.data 

num dw 08h 
fact dw ?         03 Marks 

.code 
start: mov ax, @data 
 mov ds, ax 
 mov ax,00h 
            mov al, byte ptr num 
 xor al, 0 
 jnz skip 
            mov fact, 01h 
 jmp stop 
  skip: mov al,01 
  back: mul word ptr num 
 dec num 
 jnz back 
 mov fact, ax 
   stop: mov ax, 4c01h 
 int 21h 

 end start       07 Marks 
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5) Explain the architecture of 8086 microprocessor with a neat block diagram. 

 The block diagram of 8086 microprocessor architecture is as shown 
below: 
 

 

Fig: Architecture of 8086 
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6) Write an ALP to compute the value of a functionܻ =  3 ∗ ܺ +  5 . Where 
ܺ →  and Adjust the value of ܻ in unpacked BCD format.               10 Marks 9 ݋ݐ 0

.model small 

.data 
m db 03h 
x db 09h 
c db 05h 
y dw ?        03 Marks 
.code 
start: mov ax, @data 
 mov ds, ax 
 mov ax,00h 
 mov al, m 
 mul x 
 aam 
           mov bl, ah 
           mov ah,00 
 add al, c 
 aaa 
 add ah, bl 
           mov byte ptr y, al 
           mov byte ptr y+1, ah 
 mov ax, 4c01h 
 int 21h 

 end start        07 Marks 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 



7) Write an ALP to find the number has an even or odd parity. If parity is even set 
DL to 00; else set DL to 01. Also to find the given number is an odd or even 
number.          10 Marks 

.model small 

.data 
num db 89h 
od db 0h 
ev db 0h       03 Marks 

.code 
start: mov ax, @data 
 mov ds, ax 
 mov ax,00h 
           mov al, num 
 xor al, 00 
 jp skip 
 mov dl, 01h 
 jmp skip1 
  skip: mov dl, 00h 
skip1: ror al, 1 
 jnc skip2 
           mov od, 01h 
           mov ev, 00h 
 jmp skip3 

 skip2: mov od, 00h 
           mov ev, 01h 
 skip3: mov ax, 4c01h 
  int 21h 

 end start       07 Marks 
 




